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1. The foundation for the welfare state was laid

by :

(A) John Rawls

(B) Mary Stewart

(C) William Beveridge

(D) Amartya Sen

2. Which is not covered as the overarching

principles of social work ?

(A) Respect for the inherent worth and

dignity of human beings

(B) Respect for community values

(C) Respect for Human Rigthts and

social justice

(D) Respect for the principle of Doing

no harm

3. The Global Definition of the Social Work

Profession was approved by the IASSW

General Assembly and IFSW General

Meeting in July 2014. Which term was

included first time in the global definition of

social work ?

(A) Social Change

(B) Social Development

(C) Social Justice

(D) Social Cohesion

4. Social work profession recognizes that

Human Rights need to coexist alongside

with :

(A) Collective responsibility

(B) Social case work

(C) Social action and duties

(D) Government intervention

5. The settlement house movement focused

on the "three Rs". These were :

(A) Research, Reform and Residence

(B) Rescue, Rehabil itate and Re-

employ

(C) Reason, Requisition and Rewards

(D) None of the above

6. Which is not included in the list of ten core

competencies of professional social

workers ?

(A) Professional Identity

(B) Acceptance

(C) Critical Thinking

(D) Social and Economic Justice
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7. "A lifespan development theory that explains

how individuals must have certain needs met

before they can move to achieve a higher

level of needs" was given by :

(A) Crain

(B) Freud

(C) Maslow

(D) Perlman

8. Systems theory in Social Work is based on

the idea that behaviour is influenced by a

variety of factors that work together as a

system. Systems Theory emphasizes that :

(A) The whole is greater than the sum

of the parts

(B) The whole is equal to the sum of

the parts

(C) The whole is lesser than the sum of

the parts

(D) There is no relationship between the

whole and sum of the parts

9. Occupational Social Work is the branch of

Social Work which is related to :

(A) Occupational problems of social

workers

(B) Work, Workers and Workplaces

(C) Social work recognition as an

occupation not professional

(D) Vocational skills and practice

10. The disability, legislation, recently passed

by the Indian Parliament to fulfil its obligation

to the United Nations Convention in this

regard, is known as :

(A) Rights of Persons with Disabilities

Act

(B) Empowerment of Persons with

Disabilities Act

(C) The Persons with Disability (Equal

Rights, Protection of Opportunities

and Full Participation) Act

(D) Welfare of Handicapped Persons

Act

11. Social class is a :

(A) Category

(B) Primary group

(C) Secondary group

(D) Status of a stratum

12. Society is divided into two main classes,

those who own the means of production and

those who do not, known as Bourgoeoisie

and Proletariat respectively. This

classification was given by :

(A) Adam Smith

(B) Karl Marx

(C) David Ricardo

(D) J.K. Galbraith
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13. Which is not the key feature of Post

Modernist Society ?

(A) Globalisation

(B) The Media

(C) Consumer Society and Hybridity

(D) Trade Unionism

14. The Max Weber Theory of Bureaucracy

proposes that all business tasks must be

divided among the employees. The basis

for the division of tasks should be :

(A) Duration of stay in organisation

(B) Competencies and Functional

specializations

(C) Employee's background

(D) Social status

15. Who developed the SWOT approach ?

(A) John Maslow

(B) Edward de Bono

(C) Albert Humphrey

(D) Erik Berne

16. According to Erik Erikson's Stages of

Psychosocial Development, Identity vs.

Role Confusion is seen at which age ?

(A) 05-12

(B) 12-18

(C) 18-40

(D) 40-65

17. According to Psychoanalytic Theory, Freud

states that personality is composed of three

elements known as the id, the ego, and the

supergo. These elements are characterized

by distinct operations. Match these elements

with their characteristic features.

(Elements) (Characterized by)

a. Id (i) Reality Principle

b. Ego (ii) Pleasure Principle

c. Super Ego (iii) Conscience

The correct answer is :

(A) a-(ii), b-(iii) and c-(i)

(B) a-(i), b-(ii) and c-(iii)

(C) a-(ii), b-(i) and c-(iii)

(D) a-(iii), b-(ii) and c-(i)
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18. The prisoners' dilemma is an example

of :

(A) A solution to a social dilemma

(B) The opposite of a social dilemma

(C) Free riding

(D) A social dilemma

19. 'Crowd behaviour is not a product of the

crowd itself, but is carried into the crowd by

particular individual.' This theory is known

as :

(A) Convergence Theory

(B) Group Mind Theory

(C) Emergent Norm Theory

(D) Contagion Theory

20. A webinar is the new form of :

(A) Virtual Community

(B) Computer-mediated Community

(C) Online Interactive Meeting

(D) Focussed Group Discussion

21. The process that compares actual

performance or results with what was

expected or desired, is termed as :

(A) Social Functioning

(B) Gap Analysis

(C) Baseline Survey

(D) Casework Principles

22. According to Functional School, social

casework is a method of helping people

through special services given by social

agencies in such a way that the experience

of using such services may be

psychologically constructive. This approach

is based on the Personality Theory given

by :

(A) Sigmund Freud

(B) Carl Lewis

(C) Otto Rank

(D) H. H. Perlman

23. “Social group work : A helping process” is

authored by :

(A) Felix Biestek

(B) H.H.Perlman

(C) H.Y. Siddiqui

(D) Gisela Konopka
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24. Case Work Records do not serve as tools

for :

(A) Evaluating professional activity

(B) Sensitizing workers to practice

within the bounds of professional

ethics and values

(C) Providing personal safeguards to

social workers

(D) Quantifying worker accountability

25. The group in which has fewest grievances,

and do not engage in concerted action

against management and, is characterised

by unaccepted leadership, is called :

(A) Apathetic Group

(B) Strategic Group

(C) Reference Group

(D) Erratic Group

26. Bruce Tuckman’s Stages of Group

Development are commonly known as :

(A) Forming, Storming, Norming,

Performing and Adjourning

(B) Norming, Storming, Farming,

Performing and Adjourning

(C) Adjourning, Performing, Norming,

Storming and Farming

(D) Norming, Storming, Performing,

Farming and Adjourning

27. Match correctly the concepts (Part I) and

authors (Part II) :

                            (Part I)                      (Part II)

(a) Cognitive Behavioural i. Lewin

group work model 

(b) Social distance scale ii. Cooley

(c) Primary groups iii. Bogardus

(d) Group dynamics iv. Rose

The correct answer is :

(A) (a)-i,  (b)-ii,  (c)-iii,  (d)-iv

(B) (a)-ii,  (b)-i,  (c)-iii,  (d)iv

(C) (a)-iii,  (b)-ii,  (c)-iii,  (d)-iv

(D) (a)-iv,  (b)-iii,  (c)-ii,  (d)-i

28. According to Erik Berne each individual

possesses three ego states. His ego states

are :

(A) The parent, the adult and the

adolescent

(B) The parent, the adult and the

child

(C) The parent, the son and the

daughter

(D) The parent, the family and the

child
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29. Match correctly the Stages of Group

Development (Part I) with their title (Part II) :

                          (Part I)                        (Part II)

(a) Members come i. Performing

together, learn about

each other and

determine the

purpose of the

group

(b) Members engage ii. Norming

in more direct

communication and

get to know each

other

(c) Members establish iii. Storming

spoken or unspoken

rules about how they

communicate and

work. Status, rank

and roles in the group

are established

(d) Members fulfil their iv. Forming

purpose and reach

their goal

The correct answer is :

(A) (a)-i,  (b)-ii,  (c)- iii,  (d)-iv

(B) (a)-ii,  (b)-i,  (c)-iii,  (d)-iv

(C) (a)-iii,  (b)-ii,  (c)-iii,  (d)-iv

(D) (a)-iv,  (b)-iii,  (c)-ii,  (d)-i

30. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Read the statements

and choose the correct answer using the

code given below.

Assertion (A) : Programme Media used in

the group work is

participatory in nature.

Reason (R) : Group worker acts on his/

her whims and fancies.

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

31. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Group of individuals living

in a geographical area is

called a community.

Reason (R) : Community shares the same

physical environment.

Choose your answer from the codes given

below :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D)  (A) is false, but (R) is true.
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32. Who first used the term ‘Social Action’ in

Social Work ?

(A) Felix Biestek

(B) Jane Addams

(C) H.H. Perlman

(D) Mary Richmond

33. The project or experiment which benefitted

homeless refugees from Pakistan and was

based on the idea of Mr. S.K. Dev ?

(A) The Sriniketan Experiment

(B) The Marthandam Experiment

(C) The Gurgaon Experiment

(D) The Nilokheri Project

34. Kurukshetra journal is published by :

(A) Ministry of Rural Development

(B) Ministry of Agriculture

(C) Ministry of Social Justice and

Empowerment

(D) Niti Aayog

35. Which model is not developed by Rothman ?

(A) Locality Development

(B) Social Planning

(C) Social Action

(D) Social Policy

36. International Transgender Day of Visibility

is observed annually on :

(A) February 23

(B) January 18

(C) March 31

(D) March 10

37. The Community Development Programme

(1952) was inaugurated on :

(A) September 25

(B) April 14

(C) October 2

(D) October 10
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38. Social Action Theory was developed by :

(A) Chris Robert

(B) Max Weber

(C) Talcott Parsons

(D) Karl Marx

39. Community profiling is a :

(A) Method

(B) Tool

(C) Activity

(D) Philosophy

40. Community power structure refers to :

(A) The distribution of power at the local

community level

(B) The existing power of community

for social action

(C) Formal power in the society

(D) Role of leaders in community

empowerment

41. The term Statistics is derived from :

(A) Latin

(B) Indian

(C) Greek

(D) Japanese

42. A hypothesis is a :

(A) Tentative statement whose validity

is still to be tested

(B) Supposition which is based on the

past experiences

(C) Statement of the facts

(D) The idea of research

43. Population value is called :

(A) Variable

(B) Statistics

(C) Core value

(D) Parameter
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44. Which is not the common methodologies in

inferential statistics ?

(A)   Hypothesis Tests

(B)   Confidence Intervals

(C)   Regression Analysis

(D)   Content Analysis

45. Specify the characteristics of a Null

Hypothesis :

1. It is a general statement that states

that there is no relationship between

two phenomena under

consideration or that there is no

association between two groups.

2. It is a statement that describes that

there is a relationship between two

selected variables in a study.

3. It believes that the results are

observed as a result of chance.

4. It believes that the results are

observed as a result of some real

causes.

5. It is followed by the ‘equals to’ sign.

6. It is followed by not equals to, ‘less

than’ or ‘greater than’ sign.

Codes for the answer is :

(A) 1, 3, 6

(B) 1, 3, 5

(C) 2, 4, 5

(D) 2, 3, 6

46. Qualitative research is :

(A) Not as rigorous as quantitative

research

(B) Primarily concerned with the

collection and analysis of numerical

data

(C) Primarily concerned with an

in-depth exploration of phenomena

(D) Primarily concerned with the quality

of the research

47. What are Time Use Survey (TUS) ?

(A) TUS help in better time management

while conducting surveys

(B) TUS help both men and women to

monitor their daily schedule

(C) TUS facilitate better navigation of

time

(D) TUS make the invisible work of

women visible and thereby help in

designing adequate policies

48. A variable that changes due to the action of

another variable is known as the :

(A)  Independent Variable

(B)  Extraneous Variable

(C)  Complex Variable

(D)  Dependent Variable
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49. Which is not the type of mixed methods

design ?

(A) Triangulation Design

(B)  Embedded Design

(C)  Sequential Explanatory Design

(D)  Experimental Design

50. Discrete variable represents :

(A) Percentage

(B) Maximum to minimum

(C) Whole number

(D) Minimum to maximum

51. Who advocated POSDCORB view ?

(A) Henry Fayol

(B) Luther Gulick

(C) L.Urwick

(D) R. R. Singh

52. Which one of the following is a part of the

Human Development Index ?

(A) More Gross National Product

(B) More Industrialization

(C) Life Expectancy

(D) Fighting Against Social Exclusion

53. Management by Objectives (MBO)

technique was first promoted in 1950s by

which of the following theorist ?

(A) Fayol

(B) Karl Marx

(C) Peter Drucker

(D) Webber

54. Who said the study of administration deals

with Men, Materials, and Methods ?

(A) Luther Gulick

(B) Percy McQueen

(C) Richard Titmuss

(D) Robert Owen
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55. A non-profit company can be registered

under the Companies Act, 2013 provisions

given under :

(A) Section 8

(B) Section 25

(C) Section 132

(D) Section 137

56. Charitable & Religious Trusts and Institutions

are required to obtain registration under

Section :

(A) 12 A/12AA of the Payment of

Wages Act, 1936

(B) 12 A/12AA of the Income Tax Act,

1961

(C) 12 A/12AA of the Payment of Bonus

Act, 1965

(D) 12 A/12AA of the Minimum Wages

Act, 1948

57. Which statement is not correct related to

Social Auditing ?

(A) It is a powerful tool for ensuring

accountability

(B) Social auditing means working with

transparency, not for transparency

(C) Social audit of any programme /

policy/organisation/ scheme is not

possible without engagement of

stakeholders

(D) It is also about providing an

assessment of the impact of non-

financial objectives of the scheme

58. India has signed the U.N. Convention on

the Rights of the Child on :

(A) December 11, 1992

(B) December 10, 1992

(C) December 10, 1991

(D) December 11, 1991

59. National Urban Housing and Habitate Policy

was launched in the year of :

(A) 2010

(B) 2007

(C) 2008

(D) 2012

60. SDG’s thirteenth goal is :

(A) Life Below Water

(B) Life On Land

(C) Reduced Inequality

(D) Climate Action

61. The most important part of Social Policy is :

(A) Social insurance

(B) Social security

(C) Social approval

(D) Socially disadvantaged people
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62. The Constitution came into force on 26

January, 1950.  Subsequently, Planning

Commission was set up on 15 March, 1950

and the plan era started from :

(A) 1st April, 1950

(B) 1st April, 1951

(C) 26th January, 1951

(D) 15th August,1950

63. Which of the following is not the model of

the Social Policy ?

(A) Residual Welfare Model

(B) Institutional Distributive Model

(C) Industrial Achievement Performance 

(D) Retributive Justice Model

64. Mention the stages of the policy  making

process in chronological order :

1. Policy evaluation

2.  Issue identification and agenda-

setting

3. Policy adoption

4. Policy formulation

5. Policy implementation

The correct answer is :

(A) 1,  2,  3,  4  and  5

(B) 2,  4,  3,  5  and  1

(C) 2,  4,  5,  1  and  3

(D) 4,  5,  3,  1  and  2

65. The term ‘Social Protection’ does not include :

(A) Food subsidies

(B) Public works projects

(C) Supplementary feeding

(D) Alms

66. Assertion (A) : The role of a professional

social worker through social

policies is to empower and

capacity building of the

oppressed and

marginalized sections of

society.

Reason (R) : Professional social

workers have the requisite

skill and sensitivity to deal

with the problems of such

sections of society.

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are not correct.

(C) (A) is correct, but (R) is wrong.

(D) (A) is not correct, but (R) is correct.
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67. The 2030 Agenda commits the global

community to “achieving sustainable

development in its three dimensions, that

too in a balanced and integrated manner.

These dimensions are :

(A) Personal, social and spiritual

(B) Social justice, legislation and

growth

(C) Planning, policy and planet

(D) Economic, social and environmental

68. Assertion (A) : A high average income is

not indicative of the overall

well-being or human

development in a country.

Reason (R) : Average income does not

cover indicators like level

of li teracy rate, health

facilities in a country.

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are not correct.

(C) (A) is correct, but (R) is wrong.

(D) (A) is not correct, but (R) is correct.

69. One of the ways to measure the quality of

life in countries across the world is by

comparing their :

(A) Per Capita Income

(B) Human Development Index

(C) Gross National Income

(D) Sustainable Development

70. Consider the following statement (s) related

to sustainability :

(a) It refers to a process or state that

can be maintained indefinitely.

(b) Natural resources must be used in

ways that do not create ecological

debts by over-exploiting the

carrying and productive capacity of

the earth.

(c) A minimum necessary condition for

sustainability is the maintenance of

the total natural capital stock at or

above the current level.

Codes for choosing the correct answer :

(A) Only  (a)

(B) Only (b)

(C) Only (b) and (c)

(D) (a), (b) and (c)
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71. Match correctly the three Generation of

Human Rights (Part I) and the Nature of these

Rights (Part II) :

                       (Part I)                       (Part II)

(i) First Generation (a) Solidarity

of Human Rights

(ii) Second Generation (b) ECOSOC

of Human Rights Rights

(iii) Third Generation (c) Civil and

of Human Rights Political Rights

The correct answer is :

(A) (i)-(a), (ii)-(b), (iii)-(c)

(B) (i)-(b), (ii)-(a), (iii)-(c)

(C) (i)-(c), (ii)-(b), (iii)-(a)

(D) (i)-(c), (ii)-(a), (iii)-(b)

72. From the following list of rights, select those

rights which indicate the broad spectrum of

the third generation of Human Rights :

(i) Right to self-determination

(ii) Right to economic and social

development

(iii) Right to a healthy environment

(iv) Right to natural resources

(v) Right to participate in cultural

heritage

Choose the correct answer from the options

code given below :

(A) (i), (ii), (iii) and (v)

(B) (i), (iii), (iv) and (v)

(C) (ii), (iii), (iv) and (v)

(D) (i), (ii), (iii), (iv) and (v)

73. The protection of Human Rights Act in India

was passed in :

(A) 1990

(B) 1993

(C) 1996

(D) 1999

74. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : Suppose the literacy rate in

a state is 78% and the net

attendance ratio in

secondary stage is 47%.

Reason (R) : More than half of the

students are going to other

states for elementary

education.

Choose the correct answer using the code

given below :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
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75. Name the women representative who has

been instrumental to change the phrase “All

men are born free and equal” to “All human

beings are born free and equal” in Article 1 of

the Universal Declaration of Human Rights ?

(A) Eleanor Roosevelt  ( America)

(B) Fryderyka Kalinowski (Poland)

(C) Bodil Begtrup (Denmark)

(D) Hansa Mehta (India)

76. The characteristics of Public Interest

Litigation includes :

(i) Termed as non-adversarial litigations

(ii) Based on the principles of the

citizens

(iii) Expands the rights of the third

parties to approach the court

(iv) Can be filed through an NGO only

Choose the correct answer from the options

given below :

(A) (i), (ii) and (iv)

(B) (i), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) (i), (ii), (iii) and (iv)

77. Match correctly the type of writs (Part I)  as

applicable in India with their meaning

(Part II) :

           (Part I)                         (Part II)

(a) Writ of Certiorari i. By what authority

(b) Writ of Quo- ii. You should have

Warranto the body

(c) Writ of Mandamus iii. To be certified or

to be informed.

(d) Writ of Habeas iv. To remedy

Corpus defects of justice

The correct answer is :

(A) (a)-i,  (b)-ii,  (c)- iii,  (d)-iv

(B) (a)-ii,  (b)-i,  (c)-iii,  (d)-iv

(C) (a)-iii,  (b)-i,  (c)-iv,  (d)-ii

(D) (a)-iv,  (b)-iii,  (c)-ii,  (d)-i

78. The fundamental principles of code of ethics

are :

i. Integrity and Objectivity

ii. Professional competence and Due

care

iii. Confidentiality and Professional

behaviour

iv. Social justice and Human Rights

Choose the correct answer from the options

code given below :

(A) (ii), (iii) and (iv)

(B) (i), (ii) and (iii)

(C) (i), (iii) and (iv)

(D) (i), (ii) and (iv)
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79. The following are a few statements regarding

the National Human Rights Commission :

(a) It has no power to punish the

violators of Human Rights.

(b) It cannot award any relief including

monetary relief to the victim.

(c) It has a limited role, powers and

jurisdiction with respect to the

violation of Human Rights by the

members of the armed forces.

(d) The NHRC is neither a court of law

nor a government department but

definitely a quasi-judicial body.

Choose the correct answer from the options

code given below :

(A) (a), (b), (c)

(B) (b), (c),(d)

(C) (a), (c),(d)

(D) (a), (b), (c),(d)

80. Which International Human Rights Agency

has decided to shut its operations in the

country ?

(A) Amnesty International

(B) Human Rights Action Centre

(C) Human Rights Watch

(D) Human Rights Without Frontiers

81. The National Commission for Allied and

Healthcare Professions, 2021 defines allied

healthcare professionals as associates,

technicians or technologists trained to

perform any technical and practical task in

supporting the diagnosis and treatment of

illness, disease, injury or impairment and

support the implementation of any health

care and referral plan. This act :

(A) Recognizes medical social workers

(B) Do not recognize medical social

workers

(C) Refused to include clinical social

workers as allied health care

(D) Meant for supportive medical staff

82. Match correctly the type of writs (Part I) with

their meaning (Part II) :

                      (Part I)                     (Part II)

(a) World Mental i. 8th September, 2022

Health Day

(b) Global Social ii. 10th October,  2022

Work Day

(c) International iii. 15th March, 2022

Literacy Day

(d) International iv. 21th September, 2022

Peace Day

The correct answer is :

(A) (a)-i,  (b)-ii,  (c)- iii,  (d)-iv

(B) (a)-ii,  (b)-iii,  (c)-i,  (d)-iv

(C) (a)-iii,  (b)-i,  (c)-iv,  (d)-ii

(D) (a)-iv,  (b)-iii,  (c)-ii,  (d)-i
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83. Which Article refers to – “No child under the

age of 14 years is allowed to work in

hazardous industries” ?

(A) Article 15(3)

(B) Article 23

(C) Article 24

(D) Article 45

84. The slogan “All Human Rights for All” was

adopted for the _____________ anniversary

of the Universal Declaration of Human

Rights.

(A) 30th

(B) 25th

(C) 50th

(D) 15th

85. The first professional medical social workers

appointed in medical institutions in England

in 1895 were called :

(A) Hospital almoners

(B) Hospital friends

(C) Male social workers

(D) Friendly visitors

86. Which of the following statements about the

global ageing population is correct ?

(A) It is predicted that by 2040 over 25%

of the world’s population will be 65

years or older.

(B) The rate of increase in the median

age of populations is greater in

developing countries than wealthy

countries.

(C) In older age groups men wil l

outnumber women.

(D) Men have a lower mortality rate than

women, over the life course.

87. The most common signs of elder abuse are :

(a) The aged person seems

depressed, confused or withdrawn

(b) The aged person looks isolated

from friends and family

(c) They are not receiving requisite

attention from others

(d) They are not receiving needed care

for medical problems

Choose the correct answer from the options

code given below :

(A) (a), (b), (c)

(B) (b), (c), (d)

(C) (a), (c), (d)

(D) (a), (b), (c), (d)
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88. Learning disability refers to the neurological

disorder that causes cognitive impairment.

Which is not an example of learning

disability ?

(A) Dyslexia

(B) Dysgraphia

(C) Dyscalculia

(D) Dystrophy

89. Which of the following is not an advantage

of using Six Sigma ?

(A) Process improvement

(B) Product improvement

(C) Defect reduction

(D) A decrease in customer satisfaction

90. The procedure through which the duties and

nature of the jobs are determined and the

kinds of people who should be hired for

their goal, is called :

(A) Job enrichment

(B) Job description

(C) Job analysis

(D) Job specification

91. The National Institute of Social Defence was

set up in 1961, originally as :

(A) Central Bureau of Correctional

Services

(B) Department of Social Security

(C) National Institute of Public

Cooperation

(D) National Institute of Social

Defence

92. Section 32 of The Juvenile Justice Act, 2015

provides :

(A) Mandatory reporting regarding a

child found separated from a

guardian

(B) Rescue of child found working in a

factory

(C) Description of a Child Welfare

Committee functions

(D) Provision with respect to runaway

children in conflict with the law



Total Number of Pages : 24

21Paper-II 36-A

93. Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Read the statements

and choose the correct answer using the

code given below.

Assertion (A) : Non-renewable resources

are abundant in nature.

Reason (R) : Non-renewable resources

can be replenished over a

period of time.

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(C) Both (A) and (R) are false.

(D) (A) is true, but (R) is false.

94. Bowen’s family systems theory is

composed of eight interlocking concepts.

The four concepts are Triangles,

Differentiation of Self, Nuclear Family, and

Emotional Process. The other four are :

1. Family Projection Process

2. Multigenerational Transmission

Process

3. Emotional Cut-Off

4.  Sibling Positions

5. Joint Family

Choose the correct answer :

(A)  1,2,3,4

(B)  2,3,4,5

(C)  1,3,4,5

(D)  1,2,4,5

95. Match correctly the type of disaster (Part I)

with their examples (Part II) :

                    Part I                         Part II

(Types of Disaster)      (Examples)

(a) Geophysical i. Avalanches and

Floods

(b) Hydrological ii. Extreme

Temperatures,

Drought and

Wildfires

(c) Meteorological iii. Earthquakes,

Tsunamis and

Volcanic activity

(d) Climatological iv. Cyclones and

Storms/Wave

Surges

The correct answer is :

(A) (a)-i,  (b)-ii,  (c)- iii,  (d)-iv

(B) (a)-ii,  (b)-i,  (c)-iii,  (d)-iv

(C) (a)-iii,  (b)-i,  (c)-iv,  (d)-ii

(D) (a)-iv,  (b)-iii,  (c)-ii,  (d)-i
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96. The International Criminal Court (ICC) was

established in :

(A) 2000

(B) 2001

(C) 2002

(D) 2003

97. An individual who identifies a role that is

opposite to his/her biological sex is called :

(A) Homosexual

(B) Bisexual

(C) Queer

(D) Transgender

98. Which professional organisation of social

work has started organising the Indian Social

Work Congress every year ?

(A) Indian Society of Professional

Social workers (IPSWA)

(B) Indian Network of Professional

Social Work Association (INPSWA)

(C) National Association of Professional

Social Workers in India (NAPSWI)

(D) Bombay Association of Trained

Social Workers (BATSW)

99. From the following list of statements, select

those which indicate the significance and

functions of green social work :

(i) A holistic approach to social

workers involvement in ecological

and environmental issues

(ii) Social workers have played a low-

key role in environmental issues

(iii) Deals with the impact of the faltering

environmental stability upon human

populations

(iv) Related to environmental justice

Choose the correct answer from the options

code given below :

(A) (i), (ii), (iii)

(B) (i), (ii), (iv)

(C) (i), (iii), (iv)

(D) (ii), (iii), (iv)

100. In individuals with HIV, opportunistic

infections are :

(A) More frequent

(B) Less frequent

(C) Non-existent

(D) Not possible
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